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15. A man sells an article at 5% above its cost 15, U 3(TGHI UP Tvg H! I9P aNTd o9 H 5%

price. If he had bought it at 5% less than
what he paid for it and sold it for Rs. 2 less,
he would have gained 10%. Find the cost
price of the article.

sY S /hm ==

a. Rs.500 , ¥ I(,.\3

b. RE. 360 ST
Rs. 400 2 \IL‘%G €2 mm 7\

d. None of these "'9/ ==
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21. A whole-seller allows a discount of 20% on 21. U® 4% fa%har us e fasar &t gt g=u

the list price to a retailer. The retailer sells
at 5% discount on the list price. If the
customer paid Rs. 38 for an article, what

profit is made by the retailer ? <:5 T
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None of these
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1. Interest obtained on a sum of Rs. 5000 for 3yearsisRs. 1.5000 ¥9F &r T 9T 3 a6t & yrcg AT 1500
1500. Find the rate percent. 9 g1 ufaea g 3rg fifSv|

a. 8% a. 8%

. TR e P

d. None of these \c/}ﬂ( / -S Q
i /1




2. After how many years will a sum of Rs.12,500 2.f&asr asf & &g 12,500 9L & TR 10% vfa a§ $i
& ¥ 17,500 TAA @' AT

become Rs. 17,500 at the rate of 10% per annum?

a. 2 years

b. 3 years

d. None of these




3. What is the rate of simple interest for the first 4 3.3 360 9T Hr MY 9 ast & 540 TIA &Y FA &

years if the sum of Rs. 360 becomes Rs. 540 in 9 years 3 3fa#H 5 ast & (AU 41T T &X 6% Ear TE 4
asl & AT JYUROT SIS i T F;4T 2 .

and the rate of interest for the last 5 years is 6%?

S RS

c. 3%

d. None of these
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4. What will be the simple interest on Rs. 700 at 9% per  , . Rad 1994 ¥ 18 IV 1994 Fr AW F AT

annum for the period from February 5, 1994 to April _700 TIAX W 9% Ui av dr & q HYUROT &1
fraar grem?

18,1994? &xﬁxx S F{/&) %548
\%s. 12.60 % S \_y( 5= Mgsthe & =

b. Rs.11.30 Y _j't\)\ b: 1151.30 : : /{ ¥ ]%
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C."RS. 15 A é 3 7 3 W # m aﬂ’ - J
d. None of these P 8 oy I - GB .




THANK YOU!



